
Турнир по решению  шахматных задач (#2, #2, #2)

Ответы
№ Задание Решение

№1

XABCDEFGHY
8-+-+-+-+(
7+-+-+-+-'
6-+-+-+-+&
5+-+-+-wQ-%
4-+-+R+-+$
3+-mK-+p+-#
2-+-+-mk-+"
1+-+-+l+-!
xabcdefghy

#2    3+3    С+

№1. С. Лойд [1859 г.]

1.Re1! zz  (5)
1...Lg2! 2.Qh4#
1...La6 (~) 2.Qg1#
1...K:e1 2.Qd2#

№2

XABCDEFGHY
8-+R+-+-+(
7+-+-+-+-'
6-+-mk-+-+&
5+-+N+-zp-%
4-+-+K+Q+$
3+-+-+-+-#
2-+-+-+-+"
1+-+-+-+-!
xabcdefghy

#2    4+2    С+

№2.С. Лойд [1880 г.]

1.Kf5! zz (5)
1...K:d5 2.Qd1# 
1...Kd7 2.Ke5#

№3

XABCDEFGHY
8-+-+-wQ-+(
7+-+-+L+k'
6-+-+-+r+&
5+-+-+-zp-%
4-+-+-+N+$
3+-+-+-mK-#
2-+-+-+-+"
1+-+-+-+-!
xabcdefghy

#2    4+3    С+

№3. С. Лойд [1885 г.]

1.Qa8! zz (5)
1...Rg7 2.Qh1#
1...Kg7 2.Qg8# 
1...Ra6 (~) 2.Qg8#
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